PETROL

CULTIVATOR/
TILLER

04603 - CP145 SPARE PARTS DRAWING

32

38 1 30

S
77—

NS

= A\

4 \ N 9

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK. KCMC0419



DRAPER

PETROL

| CULTIVATOR/
TILLER

04603 - CP145 SPARE PARTS LISTING

KEY PART STOCcK DESCRIPTION KEY Foul STOcK DESCRIPTION
1 YCP145-01 34882 BOLT M5x35 42 YCP145-42 40312 RIGHT HANDRAIL
2 YCP145-02 35239 BOLT @8.4x20x2 44 YCP145-44 40313 THROTTLE CABLE
3 YCP145-03 35523 RIGHT ROTARY KNIFE 45 YCP145-45 40403 CLIP
4 YCP145-04 35534 GEAR BOX 46 YCP145-46 40409 BOLT M8x16
5 YCP145-05 36190 WASHER @8 47 YCP145-47 40410 HANDRAILS CLIP
6 YCP145-06 36192 PLUGGING COVER 48 YCP145-48 40412 WASHER GB96 @8.4x24x2
7 YCP145-07 36210 CIRCLIP @2 49 YCP145-49 40415 WASHER GB93 8.1x2.1
8 YCP145-08 36215 LIGHT ROTARY BLADE 50 YCP145-50 40422 HANDRAILS STENT
9 YCP145-09 36216 FENDER 51 YCP145-51 40428 CIRCLIP
10 YCP145-10 36329 CLEVIS PIN WITH HEAD 8x35 52 YCP145-52 40457 DRIVEN PULLEY
1 YCP145-11 36331 FRONT WHEEL 53 YCP145-53 40459 WASHER @13.2x@24x1.5
12 YCP145-12 36646 NYLON WASHER 54 YCP145-54 40771 GEARBOX STENT
13 YCP145-13 37323 BOLT 55 YCP145-55 40772 RESISTANCE POLE
14 YCP145-14 37473 WHEEL FIXATOR 56 YCP145-56 40773 TENSION PULLEY
15 YCP145-15 37548 BOLT GB5782 M10x65 57 YCP145-57 40774 SPRING
16 YCP145-16 38013 NUT GB6182 M10 58 YCP145-58 40775 BOLT M6x16
17 YCP145-17 38217 SPRING
18 YCP145-18 38400 BOLT M8x20
19 YCP145-19 38800 BELT VZ610
20 | YCP145-20 39043 | BOLT BS17689 3/8UNFX30
21 YCP145-21 39177 WASHER GB96 @10.5x30x2.5
22 YCP145-22 39600 INITIATIVE PULLEY
23 YCP145-23 39602 NUT M5
24 YCP145-24 39603 FLAT KEY 4.75x5.5x25
25 YCP145-25 40001 BELT
26 YCP145-26 40079 BOLT M8x30
27 YCP145-27 40094 ENGINE FIXATOR
28 YCP145-28 40096 NUT M8
29 YCP145-29 40101 CLUTCH SPRING
30 YCP145-30 40127 BOLT M8x40
31 YCP145-31 40173 CLUTCH HANDLE
32 YCP145-32 40183 CLUTCHING LINE
33 YCP145-33 40189 LEFT HANDRAIL
34 YCP145-34 40195 HANDLE COVER
3 | YCP145-35 40196 |NUT M8
36 YCP145-36 40198 NUT M6
37 YCP145-37 40199 CLUTCH SPRING
38 YCP145-38 40272 THROTTLE SWITCH COVER (L)

39 YCP145-39 40309 THROTTLE SWITCH HANDLE
40 YCP145-40 40310 THROTTLE SWITCH COVER (R)
41 YCP145-41 40311 BOLT M6x44

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK.

KCMCO0419



PETROL

CULTIVATOR/
TILLER

04603 - CP145 SPARE PARTS DRAWING/LISTING

KEY PART STOCK DESCRIPTION EY ol STocK DESCRIPTION
1 YCP145-63 40926 BOLT M6x12 7 YCP145-69 41403 SPRING, VALVE
2 YCP145-64 40939 COVER COMP, CYLINDER HEAD 8 YCP145-70 41418 RETURNER, INTAKE VALVE
3 YCP145-65 41191 PACKING, HEADCOVER 9 YCP145-71 41448 VALVE, INTAKE
4 YCP145-66 41202 ROCKER ARM 10 YCP145-72 41501 VALVE EXHAUST
5 YCP145-67 41317 PLATE, PUSH ROD GUIDE 11 YCP145-73 41547 SPARK PLUG
6 YCP145-68 41390 SEAT, VALVE SPRING, IN 12 YCP145-74 41559 COVER, RECOIL

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK.

KCMCO0419



DRAPER

PETROL

| CULTIVATOR/
TILLER

04603 - CP145 SPARE PARTS LISTING

KEY ol STOcK DESCRIPTION KEY Foul STOCK DESCRIPTION
13 YCP145-75 41693 BOLT M6x25 54 YCP145-116 43411 CLIP, WIRE HARNESS
14 YCP145-76 42041 WIND DEFLECTOR SHALL BE LEFT 55 YCP145-117 43412 CRANKSHAFT ASSY
15 YCP145-77 42089 PLATE, GOVERNOR 56 YCP145-118 43413 NUT
16 YCP145-78 42090 ROD, PUSH 57 YCP145-119 43420 WASHER, CRANKSHAFT
17 YCP145-79 42092 LIFTER, VALVE 58 YCP145-120 43434 GOVERNOR ASSEMBLY
18 YCP145-80 42100 CAMSHAFT ASSY 59 YCP145-121 43450 GASKET, BREATHER CHAMBER
19 YCP145-81 42141 SCRAPER RING SET, PISTON 60 YCP145-122 43455 CAP, BREATHER CHAMBER
20 YCP145-82 42282 PISTON 61 YCP145-123 43756 DOWEL PIN, CASECOVER
21 YCP145-83 42542 PIN, PISTON 62 YCP145-124 43856 COVER ASSEMBLY, CRANKCASE
22 YCP145-84 42543 CLIP, PISTON 63 YCP145-125 43870 OIL SEAL
23 YCP145-85 42558 ROD ASSEMBLY., CONNECTING 64 YCP145-126 43994 BOLT M6x18
24 YCP145-86 42562 CYLINDER 65 YCP145-127 44046 BOLT M6x45
25 YCP145-87 42563 OIL SEAL 66 YCP145-128 44061 TUBE
26 YCP145-88 42586 NUT, FLANGE 67 YCP145-129 44065 CLIP, FUEL LINE
27 YCP145-89 42609 ADJUSTER ROCKER ARM 68 YCP145-130 44068 DIPSTICK
28 YCP145-90 42611 SHROUD 69 YCP145-131 44069 NUT M6
29 YCP145-91 42612 ENGINE STOP WIRE 70 YCP145-132 44073 CLAMP, BREATHER TUBE
30 YCP145-92 42614 CIRCULAR PLATE 71 YCP145-133 44074 IGNITION COIL ASSY
31 YCP145-93 42627 BREATHING VALVE SPRING 72 YCP145-134 44075 BOLT STUD, IGNITION COIL
32 YCP145-94 42629 BOLT, STUD 73 YCP145-135 44080 BOLT STUD, RECOIL STARTER
33 YCP145-95 42634 FUEL TANK CAP COMP 74 YCP145-136 44092 FLYWHEEL ASSEMBLY
34 YCP145-96 42886 FUEL TANK 75 YCP145-137 44082 FAN, RECOIL STARTER
35 YCP145-97 43003 BOLT M6x38 76 YCP145-138 44095 PULLEY, STARTER
36 YCP145-98 43005 BUSHING, FUEL TANK 77 YCP145-139 44103 NUT
37 YCP145-99 43019 BOLT M6x16 78 YCP145-140 44137 SHIELD, MUFFLER
38 YCP145-100 43024 ENGINE STOP WIRE 79 YCP145-141 44152 GASKET, AIR CLEANER
39 YCP145-101 43027 CLIP, FUEL LINE 80 YCP145-142 44239 AIR CLEANER ASSEMBLY
40 YCP145-102 43029 FUEL LINE 81 YCP145-143 44241 BOLT, STUD
41 YCP145-103 43033 SHAFT, GOVERNOR ARM 82 YCP145-144 44369 PACKING, INTAKE
42 YCP145-104 43034 WASHER, GOVERNOR ARM SHAFT 83 YCP145-145 44377 INSULATOR, CARBURETOR
43 YCP145-105 43035 SEAL, GOVERNOR ARM SHAFT 84 YCP145-146 44393 PACKING, CARBURETOR
44 YCP145-106 43036 PIN, LOCK 85 YCP145-147 44400 CARBURETOR ASSY
45 YCP145-107 43037 GOVERNOR ARM 86 YCP145-148 44426 GASKET, EXHAUST
46 YCP145-108 43105 BOLT, GOVERNOR ARM 87 YCP145-149 44484 MUFFLER ASSY
47 YCP145-109 43308 HEXAGON BOLTS WITH FLANGE 88 YCP145-150 44489 FILTER, BREATHER
48 YCP145-110 43312 ROD, GOVERNOR 89 YCP145-151 44490 FILTER
49 YCP145-111 43370 SPRING, THROTTLE RETURN 90 YCP145-152 44491 DAMPER PUTTER
50 YCP145-112 43407 SPRING, GOVERNOR
51 YCP145-113 43408 NUT
52 YCP145-114 43409 SHROUD ASSY, UPPER
53 YCP145-115 43410 TUBE, BREATHER

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO53 1YF UK.

KCMC0419



